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1. 2E&DHFH=E

20194 E* 20204 E* 20215 20224 &5t (M)
A BhALE 4,228,160 45,141,160 17,617,160 3,520,000 70,506,480
B.HC.% - RR&ES 0 0 0 1,521,160 1,521,160
&5t (A+B) 4,228,160 45,141,160 17,617,160 5,041,160 72,027,640
HBhEE (A/(A+B)%) 100.0% 100.0% 100.0% 69.8% 97.9%
| BREE oD
BOlEFEINDIBEICIE., SEFEBICFETANKREBHRORIE 4288 %A ER & ¥ 5
LTHEMIF T,
2.98C. TRTS L F T4 —REERE

20195 E 20204 20215 20224 &5t (M)
TS L AT —EER
" 3,999,000 7,962,000 7,938,000 7,958,000 27,857,000
3. 5D, FHEmEEERE

% 20194 = 20204 20214 20224 &5t (M)

B NREEA 5.4% 2,114,000 790,000 519,000 419,000 3,842,000
ETHEA 5.0% 1,200,000 900,000 750,000 150,000 3,000,000
&5t 3,314,000 1,690,000 1,269,000 569,000 6,842,000
4. Bhpk & D &5t

20194 20204 20214 20224 &5t (M)
&5t (A+C+D) 11,541,160 54,793,160 26,824,160 12,047,000 105,205,480
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20194 /Nt 0 -
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NEREE 1R 1,515,160 B

20214 EE/NEH 0 -

20224 2 /IET 1,515,160 -
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(1) EXEE D H A

20194 20204 20215 20224 &t (F)
. ETRE~DBIRE
A. BIEk= N 0 42,000,000 | 15,000,000 3,000,000 60,000,000
EENRE 4,228,160 3,141,160 2,617,160 520,000 10,506,480
EBENREOEE 100.0% 7.0% 14.9% 14.8% 14.9%
B.BEC&® EITHEA~DBIRE 0 0 0 0
RE&E® R (WS- |
EENRE 0 0 1,521,160 1,521,160
EBENREOEE 100.0% 100.0%
(2) ETRAE~OMBREICTEL I N2 EROEERHE
20195 2020 20214 & 20226 % &t ()
EITHAENOBREIC KLY INDER 0 42,000,000 15,000,000 3,000,000 60,000,000
EEBICHDHDEE 0.0% 93.0% 85.1% 59.5% 83.3%
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(1) BEENREOFEIEE
2019 & 2020 20214 20224 & (M)
EENEE 4,228,160 3,141,160 2,617,160 2,041,160 12,027,640
() ERIRE DHR
sa sm EHR GHERICL Y A VBEIEEEBIRICL T EE W)
i EH Ef([) [x] 18 B [ x] E RS RO
N 600,000 &1 A& 12,000 X 5 B X 5 4B = 300,000 3> Y — 7 AREENE
EHREAGE 12,000 X 5 2 X 5 48 = 300,000 a> Y — 7 LREEAGE
EBETE 1,800,000(3 > (&E) 12,000 X 10 B X 5 A = 600,000 3> —> 7 LIERE A E
vy (BiR) 12,000 X 5 2 X 5 A = 300,000 3>V —> 7 LHREBAHE
avy (@) 12,000 X 5 B X 5 48 = 300,000 3>V —> 7 LEREAHE
A (=) 12,000 X 10 H X 5 B = 600,000 O > Y —> 7 LHREB AR
HHe 400,000|=FIx 50,000 X 8 5] X 400,000 EHELADT F/3A H—
B m 1,263,160|PORHE (818) 102,380 X 2 ES X 204,760 SER3A
POWHE (L) 69,200 X 2 S X 138,400 =3A
BRE R 23,000 X 5 IR X 8 5] = 920,000 FE 5 BROBH
EEE 165,000 &5kl (&) 10,000 X 5 48 X 50,000 AEEFE/AFEFExBEJORE (6HMRE)
S 10,000 X 5 48 X 50,000 AEEFH/SFETH < A OXME (6HMRE)
aE—H#U—2 10,000 X 5 4B X 50,000 AEXTFH/AHFETFHBEAD Y — 2K (6HHRE)
\ER 3,000 X 5 7R X 15,000 ABEFEH/2FETFExBAOBER (2 5MEE)
20198 E/NaH 4,228,160
N 432,000| i A2 12,000 X 1 E| X 12 %A = 144,000 3> Y — 2 7 LAEE NGB
EHRENE 12,000 X 2 B X 12 48 = 288,000 O Y — T LREEANGR
EBETE 1,440,000{3> v (BHE) 12,000 X 3 B X 12 %A = 432,000 3> —> 7 LEREAHE
avy (&R 12,000 X 2 B X 12 4A = 288,000 > Y — 7 LHREBAHE
3>y (@) 12,000 X 2 2 X 12 %A = 283000 3> —> 7 LIERE A E
EPA (=) 12,000 X 3 B X 12 4A = 432,000 Y — 7 LEREBAHE
Ba 300,000 |Erix 50,000 X 6 5] X 300,000 EHELKD T F/3A H—
rETRE 573,160 |PORHE (&1R) 102,380 X 2 ES X 204,760 SER3H
PORHE (L) 69,200 X 2 S X 138,400 EH3A
BRE R 23,000 X 5 2 X 2 =] = 230,000
EEE 396,000 &gkl (L&) 10,000 X 12 #A X 120,000 ABEFH/2FEFExBEAORE (6HHRE)
S 10,000 X 12 4B X 120,000 AFEFE/FETFE < BAOKME ((AMRE)
aE—HU—2 10,000 X 12 #A X 120,000 AEEFH/2FEFExEAD Y — 2K 6HMRE)
BER 3,000 X 12 4B X 36,000 AEETFH/LHETFExBAOBENR (2 AARE)
20204 FE/NE 3,141,160
N 288,000 | EHE A& 12,000 X 1 2 X 12 4A8 = 144000 3> Y — 7 LAEE NGB
EHRENGE 12,000 X 1 B X 12 4B = 144,000 2> —> 7 LREEANER
EBEEE 1,440,000{3> v (BE) 12,000 X 3 2 X 12 4A8 = 432,000 3> —> T LIEREAMHE
avy (&R 12,000 X 2 B X 12 4A = 288,000 > Y —> 7 LHREBAHE
3>y (@) 12,000 X 2 2 X 12 %A = 283000 3> —> 7 LI E A E
3>y (m 12,000 X 3 B X 12 4A = 432,000 2>V — ¥ 7 LERE AR
Be 150,000|#Fiz 50,000 X 3 G X 150,000 HEREDT K/ A H—
HETRE 343,160 |POFHE (B1R) 102,380 X 2 ES X 204,760
POHE (L) 69,200 X 2 E:y X 138,400
EEE 396,000| &8 (H8) 10,000 X 12 #A X 120000 AHEEFE/2HEFEXBAORE (6HMRE)
K 10,000 X 12 4R X 120,000 AFEFE/CFETFE < BA OKRE ((AARE
Q- —x 10,000 X 12 #A X 120,000 AEEFH/2HEFEXxBEAD Y — 2K (6HMEE)
BIEN 3,000 X 12 s A X 36,000 AFETH/LFETExBAOBER (2AAEE)
20214 FE/NEY 2,617,160
N 288,000 | A (5 12,000 X 1 A X 12 +A8 = 144000 0>/ —> 7 LfREEAGE
EHBENE 12,000 X 1 B X 12 4B = 144,000 2>V — > 7 LREEANER
EBERTE 864,000( 3>y (BE) 12,000 X 2 A X 12 +A8 = 288,000 1> —> T LR EAHE
avy (&R 12,000 X 1 B X 12 %A = 144,000 2> —> 7 LR E AR
3>y (@) 12,000 X 1 2 X 12 #A8 = 144,000 3> —> 7 LK E NGB
3>y (m 12,000 X 2 B X 12 5A = 288,000 3> Y — 7 LB
Be 150,000|#Fiz 50,000 X 3 G X 150,000 HEREDT K/ A H—
BT AR 343,160 |PORHE (&1 102,380 X 2 ES X 204,760 X B EHELIC TR
POBHE (FLL) 69,200 X 2 s X 138400 X HE&EEIC TEE
EEE 396,000 |58 (L&) 10,000 X 2 4R X 120000 AREFH/2FEXTFEXBAORE (6HMRE)
K 10,000 X 12 #A X 120,000 AFEFEH/2FELTE xEA OXRE (6AMARE
aP—#Y—x 10,000 X 12 #A X 120000 AREFH/2REFEXBAO U —ZR (6HMRE)
BIER 3,000 X 12 #A X 36,000 AFETFH/2HFETFExBAOBENR (2 5MRE)
20224 F/NEH 2,041,160
&5 12,027,640
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W) 7as5 L F7 45— EEREOEERRE

20194 20204 20214 20224 A% (M)
70555 +7 4 Y -BERROEHR 3,999,000 7,962,000 7,938,000 7,958,000 27,857,000
3570555 474 Y —OANER 1,800,000 3,456,000 3,888,000 3,888,000 13,032,000
5 b ZOBOEDR 2,199,000 4,506,000 4,050,000 4,070,000 14,825,000
Q) RIS L - F7 1Y —EEREOAR
. BRI GIERICL ) AW BAGEEERETERIC L TIREEL)
#E Eox il - — = = =
e [ #m@® [x][ m [ gm [x] @ g [=]  at | %
NG -
1,800,000 PO 18000 X 20 E] X 5 ~B = 1800000
Z ODESE
Sid 200,000 |#==5 50,000 X 4 A X 200,000
LBEAE 950,000 [HP{£5% 230,000 X 1 ES X 230,000
2y (B8 18000 X 4 A X 5  sA = 360000 3vV—>TLMRAAGE
=2y (@) 18,000 X 4 5] X 5  sB = 360000 2vV—> 7 AMBEAGR
FIRIEA 200,000 [ lr 5k 200,000 X 1 = X 200,000 7 A > BlzAH
RERBE 399,000( 4 =  pett 54000 X [ X 216,000 JR—FELA. LA
L) 11,000 X 10 & X 110,000 5@ F A CEE, 1A
JANPIA-POHE 73000 X 1 I X 73,000 hE—ER, 3
BEERE 450,000 [z 150,000 X 3 = X 450,000 BAR. ML, /i B T&LO0EMRRER®E
20194 B/ it 3,999,000
NG
A2 ‘ 3,456,000 [P0 % ‘ 18000 X 16 ] X 12 B = 3456000
Z OhDESHE
Hid 650,000 [z5 45 = - 50,000 X 5 A X 250,000
BEHHEEY R - 50,000 X 2 A X 100,000
HAESEEPIR 50,000 X 6 A X 300,000
EBETE 2,078,000 [HP(ETE - B2 350,000 X 1 ES X 350,000
vy (B 18000 X 4 A X 12 4B = 864000 2v V-7 LMHAAEE
2>y (@) 18000 X 4 A X 12 48 864,000 2> — 7 LHEFLE AR
RETRE 1,662,000( = ez 54000 X 5 = X 270,000 Jm—FEHFA. LA
SR 11,000 X 20 I X 220,000 BRVT A, 1A
POREES R 10,000 X 20 & X 200,000 L> &5 —18
POB HHE 54000 X 12 I X 648,000 FE—
HESEEPIR 54000 X 6 ] X 324,000 SER—HhE,
SEFERE 26,000 5= 4 13000 X 1 = X 13,000
BEHES 13000 X 1 e X 13,000
) 90,000 5%2 30,000 X 1 = X 30,000 2ERER b FAD
AEBHA 30,000 X 1 = X 2 A = 60,000 £BHAMERHINAD
20204 /N5 7,962,000
ABGE
= ‘ 3,888,000{Po7% ‘ 18,000 X 18 A X 12 s R = 3888000
ZOMOERNH
EE e 5§50,000[554% 2 50,000 X 5 A X 250,000
HAESEEPIR 50,000 X 6 A X 300,000
EBEETE 1,728,000(=> v (&) 18000 X 4 ] X 12 78 = 864000 o> V-7 LERAANERE
2>y (@) 18000 X 4 H X 12 #B = 864000 1> V-7 LMHAAEE
REEE 1,729,000] " = t 5z 54000 X 5 = X 270,000 Em—FEHA. LA
SR 22,000 X 18 I X 396,000 5ELFNAICED, 1A
PORLEZ R 10,000 X 18 El X 180,000 L > & h—
POB EHHE 54000 X 9 I X 486,000 HE-FR, 1
HEXRGFIR 54000 X 6 & X 324,000
JANPIA-PORHE 73000 X 1 I X 73,000 fEB—FR, 38
HERR 13,000[s% 13000 X 1 = X 13,000
B 30,000 (54 30,000 X 1 = X 30,000




20014 NET 7,938,000

AEE
NG ‘ 3,888,000 | PO%7 ‘ 18,000 X 18 =] X 12 s R = 3,888,000
ZOBOEBR
ik 400,000 |# &5 2 + 50,000 X 5 A X 250,000
HEXEEPIR 50,000 X 3 A X 150,000
ES 1,728,000| 2> v (&1R) 18,000 X 4 =1 X 12 7 A = 864,000 3>V —> 7 LIEREAGE
3>y () 18,000 X 4 B X 12 s A = 864,000 3>V —> 7 LEREAGE
B EE 1,895,000 |4 = ik 53,000 X 5 G| X 265,000
5REH) 22,000 X 36 =] X 792,000
PORERE 10,000 X 12 G| X 120,000
PO EHHE 54,000 X 9 =] X 486,000
HEFEFPIR 53,000 X 3 [a X 159,000
JANPIA-POFHE 73,000 X 1 [a] X 73,000
SHERE 7,000 #FE2 7,000 X 1 = X 7,000
&R 40,000 #5454 40,000 X 1 = X 40,000
20224 FE/INET 7,958,000
ANegoAEH 13,032,000
Z OfB0ER®E
Py 14,825,000
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(D) BSHREBIEOFMEHER &

20194 20204 20214 20224 e NG
B4 EE 0 AR 2,114,000 790,000 519,000 419,000 3,842,000
BEECAD 5EE 50.0% 1.8% 2.9% 11.9% 5.4%
() BE&HEEEDFHMBIHERE DR
e o BRI GIESUC S U AV BalEaR Bmahi LT RS L)
. Ei= e [y vy - .
EH s [x] @ s [x] & sfm  [=] gt "=
A& 200,000 | &F{fi8 & 2 10,000 X 4 =} X 5 7 A = 200,000
360,000 | FHEFFIR 45,000 X 8 5] X 360,000
EBETH 800,000| 2> (H) 10,000 X 40 =} X 5 7 A = 200,000 2>V =7 LA A FE
avy (BR) 10,000 X 4 =} X 5 7 A = 200,000 2>V =7 LA A fFE
3>y (E) 10,000 X 4 =} X 5 7 A = 200,000 2> LB NS
B (=) 10,000 X 4.0 =] X 5 7 A = 200,000 2> =7 LR A FE
REBE 544,000 | ¥ PIR M 54,000 X 6 5] X 324,000
SRE®) 11,000 X 20 5] X 220,000
SHFEmE 30,000 |sFfEAE (WS) 5,000 X 6 5] X 30,000
180,000(% 30,000 = 6 5] X 180,000
20194 FE/NEH 2,114,000
NG 120,000 | aFfiiE L 10,000 X 1 =} X 12 7 A = 120,000
EBELE 480,000| 2>V (&) 10,000 X 1 5] X 12 7 A = 120,000 2> =7 LB A fF &
avy (BR) 10,000 X 1 =] X 12 s R = 120,000 2> =7 LiERRE A fF &
a>y (@) 10,000 X 1 =] X 12 s R = 120,000 2> =7 LB A fF &
B (=) 10,000 X 1 5] X 12 7 A = 120,000 2> =7 LiERE A fF &
IREZCEE 190,000 (s 2 %8 10,000 X 19 =] X 190,000
20208 BE/NaT 790,000
A& 60,000 | &F{iiE L 10,000 X 1 5] X 6 7 A = 60,000
& 50,000 |FFffEFIR 50,000 X 1 =] X 50,000
EBELE 240,000| 2> (RHE) 10,000 X 1 5] X 6 7 A = 60,000 3>V —>7 LEREAGE
avy (BR) 10,000 X 1 5] X 6 7 A = 60,000 2>V =7 LHEREAHE
a>y (@) 10,000 X 1 =] X 6 s R = 60,000 2>V =7 LHERE AR
B (=) 10,000 X 1 5] X 6 7 A = 60,000 2>V —>7 LHEEREAHE
IREZCEE 169,000 [FFIsRFRE 49,000 X 1 =] X 49,000
SREH 10,000 X 12 =] X 120,000
20214 BE/NaT 519,000
ANGE 30,0005 10,000 X 1 =} X 3 7 A = 30,000
ik 50,000 |EFifi IR 50,000 X 1 =] X 50,000
XBZEEE 120,000( 7> (fHR) 10,000 X 1 =} X 3 s A = 30,000 3>V —>7 LERBAGE
avy (&) 10,000 X 1 B X 3 s R = 30,000 3>V —>7 LHEREAHE
a>y (@) 10,000 X 1 B X 3 s A = 30,000 3>V —>7 LHEREAHE
B (ilm)) 10,000 X 1 =] X 3 s A = 30,000 3>V —>7 LHEREAHE
EEE 219,000 | =Mz EE 54,000 X 1 =] X 54,000
SREH 11,000 X 15 =] X 165,000
20226 i 419,000

B 3,842,000




